//Aroon Indicator.mq4
#property indicator_separate_window
#property indicator_buffers 2

#property indicator_colorl Magenta
#property indicator_color2 Aqua

#property indicator_widthl 1
#property indicator_width2 1

#property indicator_maximum 100 4— #propertyfn oz ittt
#property indicator_minimum 0

#property indicator_levell 70
#property indicator_level2 30

#property indicator_levelcolor White

#property indicator_levelstyle STYLE_DOT

#property indicator_levelwidth 1

/A2 —45—)\wIT7—DESE

double Aroon_UpI[]; i e
double Aroon_Down[]; T2IT—I=/WT7—=ER
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extern int Aroon_Period = 14, €4— £ %5

int init()

{
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SetIndexBuffer(0,Aroon_Up);
SetIndexBuffer(1,Aroon_Down);
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SetIndexLabel(0,"Aroon Up");

SetIndexLabel(1,"Aroon Down");
IndicatorShortName("Aroon Indicator("+Aroon_Period+")");

/A 220—5—DRAE1)L
SetIndexStyle(0,DRAW_LINE,STYLE_SOLID); — EARETEZE TR
SetIndexStyle(1,DRAW_LINE,STYLE_SOLID);
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SetIndexDrawBegin(0,Aroon_Period + 1);
SetIndexDrawBegin(1,Aroon_Period + 1);

/11 o= —DIEDREE
IndicatorDigits(2);

return(0);
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int start()
{

int limit = Bars - IndicatorCounted();
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for(inti = 0; i < limit; i++)
{
int Aroon_Up_Difference = iHighest(NULL,0,MODE_HIGH,Aroon_Period,i) - i;

Aroon_Up[i] = 100 - (100 / Aroon_Period) * (Aroon_Up_Difference); 4— SMUENS

Zsoitt
int Aroon_Down_Difference = iLowest(NULL,0,MODE_LOW,Aroon_Period,i) - i;
Aroon_Down[i] = 100 - (100 / Aroon_Period) * (Aroon_Down_Difference);
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return(0);
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